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QUESTION 1

Based on the following CLI Output, why is the path toPod3-loose down?

A. Path toPod3-loose is down because it is secondary path with no standby configured
B. Path toPod3-loose is down because there is no explicit hop specified

C. Path toPod3-loose is down because CSPF is not enabled

D. Path toPod3-loose is down because the destination address 0.10.1.3 is not reachable
E. Path toPod3-loose is not down because the failure code is oError

Correct Answer: A

QUESTION 2

Which one of the following CLI can be used to view all management VPLS configured on a 7x507?
A. Show service service-using m-vpls

B. Show service service-using

C. Show router vpls detail

D. Show service id base

E. There is no CLI command to display management VPLS

Correct Answer: B

QUESTION 3
A spoke-sdp terminated IES configured on Node 3 is down due on SDP serviceMTUMismatch error. The same error is

found on the corresponding SDP on Node 4. The VPLS is using the default service MTU. Which MTU value should be
modified to bring the SDP up on both Nodes?
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HMaode 4 Mode 2
840 Ega0g 13
192.168.1.2
=P 54
| I
192.168.1.1

A. IP MTU of the IES Interface on Node3
B. Port MTU on Node 3 and Node 4

C. SDP Path MTU on Node 3 and Node 4
D. Service MTU on Node 4

E. Path MTU on Node 3 and Node 4

Correct Answer: A

QUESTION 4

Based on the following MP-BGP update packet, what is the export route-target of peer 10.10.1.4 on Node 1?

Node 1

1 2007/04/28 10:2€:47.24 UTC MINOR: DEBUG #2001 - Peer 1: 10.10.1.4
"Peer 1: 10.10.1.4: UPDATE
Feer 1: 10.10.1.4 - EReceived EGF UFDATE:
Withdrawn Lencth = 0
Total Path Actr Length = 77
Flacg: O0x40 Tyre: 1 Len: 1 Origin: 0O
Flacg: O0x40 Tyre: Z Len: 0O A5 FPath:
Flacg: 0x40 Tyge: 5 Len: 4 Local Preference: 100
Flag: OxcO Tyre: 16 Len: 8 Extended Conmunity:
carget:10C: 101
Flag: 0x90 Tyre: 14 Len: 45 Multiprotocol BEeachsable NLRI:
iddress Fesmily VPN-IPV4
NextHop len 12 NextHop 10.10.1.4
40.1.1.1/32 RD 200:201 Label 131067
30.1.2.0/Z49 RD 200:201 Label 131067

2 2007/04/28 10:2E:52.34 UTC MINOR: DEBUG #2001 - Peer 1: 10.10.1.4
"Peer 1: 10.10.1.4: UPDATE
Peer 1: 10.10.1.4 - Send BGP UPDATE:
Withdrawn Lencth = 0
Total Path Attr Length = 69
Flag: O0x40 Tyre: 1 Len: 1 Origin: O
Flecg: Ox40 Type: 2 Len: 0 i3 Path:
Flag: 0x40 Tyre: & Len: 4 Local Preference: 100
Flag: OxcO Tyre: 16 Len: 16 Extended Community:
target: 10C: 100
target:20C: 200
Flacg: 0x90 Tyre: 14 Len: 32 Multiprotocol REeachable NLRI:
boddress Fewmily VPN-IPV4
NextHop len 12 MNextHop 10.10.1.3
30.1.1.0/24 ED 200:101 Lakel 131067

A. 100:100
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B. 100:100 and 200:200
C. 200:200
D. 100:101
E. 200:101

Correct Answer: B

QUESTION 5
Two routers are physically connected running ISIS. ISIS L2 adjacency is up and running but L1 adjacency is not up.

Review the configuration information shown below: Which of the following statement best describe the cause of the
problem? Select one answer only.
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Pod-1

configrrouters
i=is
interface "toPodZ®
exit

# show router isis interface detail

Interface : toPod2 Lewel Capsbility: L1L2
Oper 2tate - Up Lomin State - Up
Auth Type : MNone
Circuitc Id e 1 Recransmitc Int. @ 5
Type : Broadcast L3P Pacing Int. : 100
Mesh Group : Inactive CENP Int. = 16
Bfd Enabled : No
Level 5 il Ldjacencies = 13
Desg. I3 : Podl
Luth Type : None Mecric Ha o
Hello Timer H- Hello HMulc. = %
Priority - 64 Paszive : No
Level e |2 Ldjacencies = 2
Desg. IS : Podi
Auch Type : MNone Hecric : 10
Hello Timer @ 9 Hello Mulc. .
Prioricy H Passive : No
FPod-2
configrrouter:
i=is
interface "toFodl™
exit

# show router isis interface detail

Interface : toFodl Lewel Capability: L1LZ
Oper State L Ldmin State : Up
duth Type : MNone
Circuit Id HEE Retransmit Int. : 5
Type : Broadeoast L3P Pacing Int. : 100
Hesh Group : Inactive CSNFP Int. = 10
Bfd Enabled : No
Lewvel rH Lefjacencies Ha|
Desg. I3 : Pod2
duth Type : None Metric : 10
Hello Timer : 9 Hello Mult. 13
Pricrity H - Paszive : No
Level HE Ldjacencies 2 Nk
Desg. IS : Podi
Auth Type : MNone Hecric 10
Hello Timer : 9 Hello Mult. 13
Priority H T Pasaive s

A. The ISIS interface level is not configured on both routers

B. The ISIS interface type should be configured as point-to-point interfaces
C. ISIS System IDs are not configured on both routers

D. ISIS Area addresses are not configured on both routers

E. ISIS level capacity are not configured on both routers
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Correct Answer: D
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